UG/1st Sem/H/20[AEC-1[/(CBCS)
2020

ENVIRONMENTAL STUDIES (Honours)
(For BAA/B.Sc/B.Com./BCA Candidates)
Paper : ENVSH - AEC-1
(CBCS)
Full Marks @ 40 Time : One Hour
The figures In the margin ndicare full marss.
Eachquestion carnies 2 marks.
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1. Which one:of the following gases 15 most abundant m atmosphere?
(A) Methans
(CY CFC.
(D) Oxyzen
(A) m=w

(B) ===

(C) F.a=m

(D) = e



2 The main sowre of oxygen n atmesphere & —

Tl

Lad

(4] Respirmtion
(8) Excrtion

(€) Photossmthesss

(D) None of the sbove

. RS HeLed i 55h I —

(&) =7=
(B) B
(C) FmernEs

(D) Se=E =TS

- Wha 15 umreerssl solvent?

A Water
(B) Alcohol
{C) Far

(D)) Petroleum

[t
. WEIE A e §

(&) F7
B) TS

(C) e w=d

D) =% &5
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4. Who i assotiated with the ‘Chipko Movemment™
(A} Kiman Bedh
(8) 5. L Bahuguna
(C) Medha Patkar
(D) Nonz of them
4. THHTE W —6F AR S 51
(4) Bse &
B) &7, gu. =2
(€) o sz

D) &75 & o

1fi

. Jaldaparz 15 famous for the conservation of —
(A) Tiger

(B) Elephart

{C) Cow

(D) Rhmecerss

L

(&) =™
(C) *FF
D) T=m
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¢ The sunlisht provides us —
(A) Viamm K
(8) Vitamin D
(€) Viemm A
(D) Vitamm C
6. TREg S W —
(A) FEEfm K
(B) T&vw D
(€) FE5fm &
@) fefiw ¢

7 ANErsisE —
(A) Planet
() Gahiy
(C) St
(D) Naone of these
(A) ==
(C) 7=z

D) Froe =8
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§. Full form of WWF —
(A} World wide Football
(B) Waild wide Foundation
(C) World waldhfe Fund
(D) None of these

8. TF=gOF-Ew R TER T —
(A) STFS €527 guen
(C) &375 “ER= S o
D) s WY

9 Quutne 13 produced from —
(A) Aconite plans
(B) Cinchona plant
(€) Mango plant
(D) Astenusia plant

9. [T S TS Taeas SE Wi
(A) ==mIEe
(C) ==

D) =T
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10. Earthquake is measured by —
(A} Barometer
(8) Thenmometer
(C) Sesmograph
(D) None of these
1. gt s w e T —
(&) FmerEE
(€) Fmew
(D) e T
11 Basic dlemerit of Bio-Gas —
(A) Methane
(B) Ammionia
(C) Hydrogen
(D) Neon
11 TETIAE 2w T —
(A) T
(C) T=ms=
(D) W=
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Whe coined the term “Ecosystem’ —

(A) A G Tansley
(8) Charles Danwin
(€) E. Haeckel

(D) E O Wilen

12, T s S0n BA6E 39 —

ot

E_— -

|'L_-.L-_.|' .._i'||_ = e
(B) 55 =waen
(C)

E—D:I- ?_:. .5_ .-\;‘.'-‘ﬂ_;'lﬂﬂ

=TT

ol

ll_A;:idmm:&-:aiﬂédh?_

13.

(A) Sulphur dioxide
(B) Carbion dicxide
(C) Mereune axde
(D) Naone of the above

TAC 85 80 35 —

(A) FeEg TamEeT
(C) TRESR= ==
(D) TFE T o
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14, Global Watming is mainly cased by —
(4 Co,
(B) Temgpesature
(C) 0,
(D) Halogens
14, f-TenTe oA T —
(4) €O,
(B) =remm
() O.
(D) T

-
Iu'u

Which one of the follewng 15 2 water-bome diseass —
(A) Small pox
(B) Cholerz
(C) Influenza
(D) Diabites

- = -
Wi e enaies e —

e
s

(&) T =HE

(C) TwgiEsl
D) =W eaea
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16 The earth receives major energy from —
i) Moon
(B) Sun
(C) Mars
(D) None of these
16, A wiw Y0E T T —
(A) > s
B) T =
(C) 77 o= (4=
(D) =T =
17 Which of the follawing is 2 cases of environmental polluion?
(A) Indusmalisanen
(B) Tree platanca
(C) Water presenvation
(D) None of these
(4) Toem
(B) TF "
(C) == ==
(D) Teoe =w
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18 Silent valley lies in the state of —
iA) Biar
(B) Kerala
(€) Tamid Nadu
(D) Goa

I8, FETED e ma s 5 NS —
(a) =z
B) ===
(C) =iy
@)
IS The name of the Gas causes the Bhupal Gas Trazedy 15—
(A) MIC
(B) FIT
(C) TIT
(D) TIC
19, T WP e B 7] W8 AW = —
(&) MIC
(B) FIT
(C) TIT
D) TIC
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20. The arth Summit organized in —
(A 1870
(3 1972
(€) 1982
D) 1992
20, 5mq AvEeS WEEE oW —
(A) 1970
(B) 1972
(C) 1982
(D) 1992
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